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2023 4B 1HIRTE
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SEADH SEADH SEADH NEAEED
HHETZAL 296 0 339 0 635 0 307 0
= HETEEE 65 0 69 1 134 1 59 1
HHETHEE 244 0 228 472 229
= HETILER 51 0 60 0 111 0 38 0
HHEEH 1,879 110 2,027 169 3,906 279 2,020 245
= HETETR 150 1 155 1 305 2 153 2
HHEER 555 27 588 25 1,143 52 566 40
HHETEESF 57 0 53 2 110 2 43 2
= HETILF 381 55 345 1 726 56 353 56
==Ll ES 230 8 227 9 457 17 208 17
SHHETHE 85 2 96 1 181 3 80 1
= HETER 83 1 85 0 168 1 75 1
= HETT R 308 11 240 4 548 15 418 15
= HET/MLU 59 0 65 0 124 0 62 0
HHRETEAT 187 1 222 7 409 8 191 4
HHETTAL 80 0 89 0 169 0 83 0
HHETRE 77 0 72 1 149 1 74 1
= AETH 103 0 127 0 230 0 108 0
= HESE 38 0 31 0 69 31 0
J\FAET LB 82 5 90 9 172 14 95 9
I\ TFRETHH 210 4 229 3 439 7 222 7
INFHRETE < FH 410 19 378 19 788 38 419 34
INTFRETTR 467 11 491 26 958 37 436 31
I\FHRET LR 435 8 510 15 945 23 425 11
J\FAET @ L 46 4 4 0 87 4 48 4
Xt BHETHEH 379 6 467 51 846 57 395 57
X1 BETAH 334 2 352 6 686 8 287 4
el b4 249 0 263 0 512 0 227 0
X1 EET4H 138 0 151 0 289 0 144 0
X+ EBEETZH 56 0 62 0 118 0 57 0
== BT R 178 6 195 2 373 8 220 8
== BTk <& 345 21 344 10 689 31 363 27
== BTRER 131 2 137 4 268 6 130 6
= EHEER 67 1 76 0 143 1 77 1
== TR 372 20 373 0 745 20 381 20
EEEERZAR 160 2 172 4 332 6 165 6
== ET)IR 169 1 176 1 345 2 180 2
B BT L/NR 307 15 345 10 652 25 328 17
FHEETT/NNR 418 12 453 4 871 16 423 13
FHESHE 738 17 790 13 1,528 30 697 18




A R ET#R th 61 1 74 1 135 68 1
B FHET R 1R 68 0 69 137 0 70 0
FA BT L BT 347 7 334 10 681 17 309 9
B BT B IL 221 4 225 446 219 6
B TR 74 0 92 0 166 0 88 0
a] R AT 3R 662 10 813 46 1,475 56 743 56
[RETF S 482 31 530 14 1,012 45 501 42
[ RET R B 266 4 289 4 555 8 290 5
mRETHE & 88 2 97 1 185 3 86 2
A RET{RIE 100 2 129 3 229 5 119 2

& &t 12,988 433 13,865 480 26,853 913 13,310 783




